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PHYSICAL EDUCATION
PAPER - 11

NOTE : This paper contains FIFTY (50) multiple-choice / Assertion & Reasoning/
Matching questions, each questions carrying two (02) marks. Attempt
ALL the questions.

A AL RAUUL WA (Mo ) srglEsedla nall, e-ullg A Assi st-nadsl WAl B A
NHUAL WU QL 8. N UBAAL G () A B,

1. What is the aim of Physical  q, wdlRs Qe WAx 3, 9.
Edycation ? A) adllks Qs
(A) Physical development (B) 4fs = Biswre
(B) Growth and development © ?Q@lcﬁ ol Risia
(C) A whole some development of S
an individual D) Gl .
(D) All of the above.
2. The term ‘Citius’ in the Olympic 2, 20W[AMAS YAHL ‘Citiug'l 2 -
motto denotes (A) auR Gws
Eg; ?igi‘er (B) QuR AsU
aster -
(C) Stronger © ;QR \tw;i&\d
(D) All of the above (D) Gua-l o
3. Which of the following is NOT a 3. «lRnrnizl ¢ o s8¢l 2l
spinal injury ? (A) BSAR
(A) Fracture B) NuAZu
(B) Dislocation. ©) 2lus das
(C) Slipped Disc —
(D) Laceration (D) @RiRA
4. Athlete’s Foot is caused by ¥. "31"‘(‘\'-&?&2\&’ Wll’i, SRRQL
(A) Virus (A) ud™ '
(B) Bacteria B) o gL
(C) Fungus (C) £
(D) None of the above. (D) Guraatisll S8 R,
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10.

Muscles which cause bend in the
joints are called

(A) Flexors

(B) Extensors

(C) Abductors

(D) Adductors

The path of an object projected in
the air is known as

(A) Speed

(B) Abnormal Curve

(C) Velocity

(D) Parabola

Theory of conditioning was given by
(A) Aritotle

(B) Pavlov

(C) Gestalt

(D) Thorndike

The ‘trial and error’ theory of
learning was propounded by

(A) Newton

(B) Pavlov

(C) Thorn dike

(D) Homer

Factors affect the time table
(A) Number of students

(B) Equipment available

(C) Climate Conditions

(D) All of the above

Total number of byes to be given
when 21 teams are participating
A) 10 '

®B) 11

) 12

(D) 13
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Q.

<.

e,

WA AR SRYUS Y,
(A) 38R

(B) Vs

(C) sl

(D) MAggel

S185 WL dRe, ¢UHLFSUML 203 Al
BARAL A 58 D -

(A) =l

(B) wowia &4

(C) aQRlA

(D) VRl

‘sedlaAlar QAN ELan, -
(A) AN

(B) waalq

(C) Sizdiee

(D) WA

‘qrua A R Alluandl 203N
A SR -

A) ~u2d

(B) wiaedid

(C) WASSs

D) SR

HHA, YoLhe HUR SeUR Lo, -
Ay (el vy

(B) s ylaw

(C) AR

(D) Guzret wii,

21 453l 251 euoL & UR Teell
oUd, (byes) LUAHL 2043 -

(A) e

B) 1

(C) ax

(D) a3



11.

12.

13.

14.

15.

16.

‘An’ efficient coach is he vwho .

(A) Tells

(B) Tells and demonstrates

(C) Tells, demonstrates and
explains '

(D) Tells, demonstrates, explains
and inspires.

Which of the following value can
not be determined graphically ?
(A) Mode

(B) Mean

(C) Median

(D) Standard deviation

Sargent jump measures

(A) Explosive leg strength
(B) Aglity

«© Explosivé arm strength
(D) Flexibility

Which of the following is a motor
educability test ?

(A) J.CR. test-

(B) LO.W.A. test

(C) Fleisman test

(D) None of the above.

Reliability denotes

(A) Consistency of Performance
(B) Variability among groups

(C) Inconsistency among subjects
(D) None of the above,

Sports management is -
(A) An art

(B) A science:

(C) Both A. and B.

(D) None of the above.
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AAH AUSHR AL SEUA KR -

A) gl 2un

B) lgdl 2, v Fsdld 201

(C) gl 20N, (Fgalet 20 221,
el 20 '

(D) gl 2w, [Hsada 20,
Ao 20 e Gl 20

DRl 58 Bua s s sald

Astdl 8l

(A) vugas

(B) Weus

(C) ez,

(D) wrlie [Qaaq

‘e v’ WAL B,
A) wrll [Azges alsa
(B) aquay

(©) ¢l ([Qzges alta
(D) =twlaa

—{gl-uaiu'l AR Aol sl
LR '

(A) J.C.R. 0L

(B) LO.W.A. sl

(O) sASU AL WL

(D) GwreL 518 «l§.

(QafAud said © -
(A) Twuasdl, z%\aiawu
B) ogunt [[Qlduan

(©) (el (vt
(D) Gwaill 18 8.

U ALRAYA, S -

(A) swu

B) ([Hau

(C) A A B &

(D) Wil 518 (.
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18.

19.

20.

. When was the YMCA (Chennai)

college of Physical Education

established?

(A) 1914
(B) 1896
(C) 1920
(D) 1924

Who inaugurated the first Modern
Olympic games in 1896 ?

(A) King George II of Greece

(B) King George I of Greece

(C) Mrs. Margaret Thatcher

(D) B.P. Coubertin

Softness of bone is known as
(A) Osteoporosis

(B) Osteomalacia

(C) Osteoblast

(D) Osteoclast

Contrast bath is recommended for
(A) Reducing dislocated joint pain
(B) Reducing Swelling

"~ (C) Treatment of wound

21.

22.

(D) None of the above.

On ‘set’ command the sprinter is in
(A) Stable equilibrium

(B) Unstable equilibrium

(C) Neutral equilibrium

(D) None of the above.

During abduction the arm moves
(A) Towards the body

(B) Away from the body

(C) In front of the chest

(D) None of the above.
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20.

1

RR.

2L 2R, L AL W R Sidey
RSl 2y sz 9.

(A) 1wy

(B) et

(C) 2&Re

(D) A&y,

Ve AL uuH Y Rs 2GS
A dlenddl Ggunls -

(A) = (Bou oo -11

B) allzeen (Bo oo -1

(€) W Wwelke B

D) ol g

SLsstell ARMIA VUV D -
(4) 2200

(B) 20BL Wz
(C) 2IAL setize

(D) 201 seRe

%\vgl%a oUAL BEALHEL S U

8

(A) AL Wl AL gruam
WL SRAL,

(B) WM. 209\ s

(C) L Al RAR

(D) GuzmiEl 18 «fg.

‘g’ g Qud Blle2+ RAM -
(A) FRR wdlad

B) A=A MA@t

(C) d2uU UHALHA

(D) Wl S18 8.

MASSUA UL §lU, ARG
(A) AR drg

B) w52

(C) Wkl 2u2LNn

(D) Guzuil 51Y (8.



23.

24.

25.

26.

27.

Cognitive learning is also called
(A) Mental'léarnin_g

(B) Affective learning

(C) Motor learning

(D) All of the above. -

Personality study is a kind of
(A) Historical Research

(B) Experimental Research
(C) Case Study

(D) Al of these

Research process consists of
(A) Collection of data

(B) Analysis of data

(C) Drawing of inferences
(D) All of these

The type of Research method used
in the study of two variables is
(A) Survey type

(B) Historical type

(C) Experimental type

(D) Philosophical type

Who was the first principal of
YMCA (Chennai) College of
Physical Education?

(A) C.A. Bucher

(B) H.C. Buck

(C) G.D. Sondhi

(D) B.P. Coubertin

. In which year NSNIS Patiala was

established ?
(A) 1998
(B) 1959
(C) 1960
(D) 1961
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Sellla, (D) 2AAUA SR DAD,
(A) HARALs vLAUA

(B) UWIRS AU

(C) Scuieus rUAA

(D) Grurew o

e [ed, AAUIUAL SR
A) AAgrls ikt
(B) MAUHS AWK
(C) =ulsa meu

(D) GuR-L oL,

WAL, WEAL MRl B -
(A) Aissid, Ayalsaat
(B) MisSle, YUSHQL
(€) o Segrrilla
(D) Guzel 1t

(8 RQauaedal e W AL
yeufdal usiR
(A) A& NSR

- (B) AlagiRs usr

QSQ

QC'

(C) wilBis usiR
(D) deasia USR

are AL, () wdlls-
(laveL sideran uaw wpdd -

A) AL oR

(B) 2.l oy

(C) .81 ML

(D) el AR

Bk, VLR DAL 20U, AR Wl
AL QN -

(A) wet¢

(B) 1w

(C) geo

(D) e’
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29.

30.

31.

32.

33.

34.

Which of the following is not a
regional centre of SAI ?

(A) Kolkata

(B) Bangalore

(C) Vadodara

(D) Patiala

‘Fartlek’ training is used to
develop h

(A) Flexibility

(B) Strength

(C) Endurance

(D) Neuro Muscular coordination

‘Micro Cycle’ involves training of
(A) One week

(B) 6-8 weeks -

(C) 8-10 weeks

D) 1-2 weeks.

‘Stadiometer’ is used to measure
(A) Strength
(B) Weight

- (C) Height

D) Circumfe rence

Research pfoposal is also called
(A) Abstract

(B) Summary

(C) Synopsis

(D) Methodology

The most unreliable and unstable
average is

(A) Mode

(B) Mean

(C) Median

(D) None of the above
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DAl 5% SAT o WE R T 2l
A) sasw |

(B) oladlR

(C) asigaL

D) e

30,510 A% dul@- GuaeL gzt Bs

31,

3R,

33,

ax'

9. - :

(A) anfAa-

B) v

(C) agaulsa

(D) 2uy, usdg, auldz@n

WHSL A, WAL M
(A) WS WS

(B) & dl ¢ AU

(C) ¢ A Lo g

D) ¢ dl = AN

LR gL Wl ws B,
(A) 1

(B) s«

(C) Gl=us

(D) &Rl

HUAWHA WAL, 5¢ B
(A) RS

(B) a3l

(C) A==

(D) AuldAley

Aldnudu 2t AEAR WIS -
(A) eges

(B) s

(C) weuzy

(D) Gwruill S1Y «fs.



35.

35.

38.

39.

40.

A treadmill is used for measuring
(A) Speed

(B) Power _

(C) Work done in running

(D) Force.

Term ‘Free Throw’ is used in
(A) Wrestling

(B) Football

(C) Volleyball

(D) Basketball

. AAHPERD youth fitness test is

used for measuring

(A) General motor ability
(B) Motor fitness

(C) Motor educability
(D) All of the above.

Blue print of the competition plan
is called

(A) Technique

(B) Tactics

“(C) Strategy

(D) Skill.

Which of the following is a method
for the classification of pupil ?
(A) Cozen method

(B) YMCA method

(C) Atlanta city method

(D) All of the above.

Which is the first step in a sports
programme ?

(A) Directing

(B) Staffing

(C) Planing

(D) Budgeting.
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39.

3<.

3¢,

NI RS
(B) waR
(C) A& st St 2+
(D) =t

G Ay uoedl GuAL W B,
(A) gl

(B) geoud

(C) UleUa

(D) surSLota

AAHPERD ¥ (2da 23¢ wud 53
® |

(A) wre W2 AU

B) Wer Gedw

(C) W Anuslad

(D) GuRell it

RS vl vplleed sgamt
WA S -

A) 25las

(B) 25

(C) W2

(D) sl

Qe asilsrer s R ARl
58 wtufaal GuAldL SAUML A B,
(A) St yruld

(B) . .l AL AL wruld

(C) Mearel 2L wruld

(D) GureL oL

2 slsuul 0l W, wRY, sy
S

(A) sRsd

(B) eEn

(C) euelaL

(D) o1l
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41.

42,

43.

44.

45.

Maulana Abul Kalam Azad Trophy
is awarded in Basketball -

(A) True

(B) False

(C) Partly true

(D) Partly false.

When 23 teams are participating
eleven bye shall be given in first
round in knowckout basis -

(A)- True

(B) False

(C) Partly true

(D) Partly false

Haptethlon consists of Ten events
in athletis

(A) True

(B) False

(C) Partly true

(D) Partly false

Winner team of Senior National
Football Championship is awarded
with Santosh Trophy

(A) True

(B) False

(C) Partly true

(D) Partly false

¥, WLALAL AL SN DUBLE 215

¥R,

Xa.

¥¥.

OURSLOUA el H BUAML A D
(A) w3y, | -

(B) vy,

(C) aillas 20z

D) iy v

23 45l bl eusL il g
AR UUH AGSHL LY 0 BULAML
204 9.

A y

(B) »ig%\ )

€) »ilds =y

D) »ils v

‘reralie’ Ml Lo THA AL AR
CIERR ' |

(A) =y

(B) W

(C) wifds 2

D) wiRs v

A2 Aune 2ol @RaL 4s R
A L5l AU SReUME 20, D
(A) =y

(B) w4

(©) =ilds =03y

(D) il vy,

Make the correct choice from the Assertion (A) and Reason (R) given below:
(A) Asking a good question, is the beginning of Research.

(B) Interview is one of the tools for collecting Research data

Select the correct answer from the codes given below

(A) Both (A and (R) are true and (R ) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true.
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¥ QR e [Qret 2 4 W2 vgude s Wil Al Fsew Al
(Al (A) 20 M3 Yo AL B AWUAD W3 B,
(R) RiRWdrtrll MUHLSL ML S W2 oL AL Brdrod WL N5 A D

A2 A SLsWil WA vy L.

(A) (A) 2 (R) e L 8. (R) A (A) o 1, 2udlsaqn 8.,

(B) (A) @t (R) HA 0= 8 ulg, (R) 9 (A) o ) wdlszen 4zl
(C) (A) 3y 8 Wig (R) vl 9.

(D) (A) W, B WRq, (R) 0, .

46. Make the correct choice from the Assertion (A) and Reason (R) given below:

(A) Corrective physical education is also known as physical education .
rehabilitation ‘

(B) Corrective exercise is beneficial for rehabilitation of injured Athlete. |

Select the correct answer from the code given below :

(A) Both (A) and (R) are true and (R ) is the correct explanation of (A)
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false ’

(D) (A) is false but (R) is true.

¥, 3 A [Qid (A) A W2 vRuae SIREL (R) Wikl 20l [dsew 204 ¢
(At (A) arew wWRs RagE ye:zalia Willks Raugt adly waL auval
2 8.,
(R) Soara WAl W2 YRR SARAL Yot 2L M2 Qesrs 8.
AR A SLeHAl 0L vared WAL,
(A) (A) 2L (R) AR 2L B, (R) L (A) o g, dlsa 8.,
(B) (A) s (R) 43 WA © W3q, (R) 9 (A) o 2, 2udlsrel el
(©) (A) A B wiq (R) WY 9.
D) (A) Wi S wig, (R) W, 8.

Phy. Edu. P-1I 11 [P.T.0.]



47. List 1 : List 11

(a) Eden Garden Stadium ' . (1) Delhi
(b) Wankhede Stadium v , (2) Jaipur
(¢) Feroz Shah Kotla Stadium (3) Kolkatta
(d) Maharaja Swami Man Singh Stadium (4) Banglor

- (6) Mumbai

CODE a b ¢ d
A 6 @ @ @
B @ 6 O @
<o B3 G GO @
M & G O @

YAAL ¢ A AR o Al o Al vl AR - T A Wl - 11 20 M Sieni wule
Bsewnial 2l [@sew agual.

vo. awl -7 wl - 11
(A) Bsadude 2QRun (1) Regl
(B) oy 2R ' (2)  wuYR
(€) G Slear () Slesw RBaw
D) AR 2 (4) ey RRun
(5) Hd ‘
K a b c d

@ & @ @ O
SLE:) R CO NN GY R € VRN )

< & G GO @

O & G O @.

48. List I List 11
(A) M.S. Dhoni (1) Badminton
(B) Naren Kartiken (2) Football
(C) Gopi Chand (3) Cricket
(D) Bhutia (49) Car driving
B) Golf
CODE a b c d

A G (4) ey 2
@ G (4) (1) (6)
© @ (3) ey 5)
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¥e. al -1
(A) WA, Well
B) A2t sUldda

(C) “undlais
O) Mfea
EAKS a b
Aa @ 4)
B 4
< @ 3
D) & 3)
D & 3
49. List I
(a) Kho-kho
(b) Kabaddi

(¢) Basketball
(d) Volleyball

CODE a b
@& O (2)
B ¢y
o @ 3
® O 1)

¥, wls -1
(A) L
B) svigl

(C) eardevlia
D) Aloia

18 a b
A @ (2)
B @ (D
< o 3
D & (n

Phy. Edu. P-II

c

(1)
1
(1
@
@)

C
3
4
4
C))

3
4
C)
C))

d
(2)
G

6)

1)
1)

d
€Y
2
(5)
(5)

&)
@
3
4)
&)

€Y
2
&)
)

w2 -11

(1)  osBuea
Q) gela
3) B3
4  srusdla
(5)  olles
List 11
(1) Thigh Hold
(2) Smash

3) 3-6-9 chain
(4) Shooting
(5) Putting

wl -11
WA, Gles
L
3-8-¢ A
o
=
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50.

(a)
(b)
(c)
(d)

CODE

EARS

(A)
B)
(©)
D)

(A)
®)
©
®)

A)
B)
(€)
D)

List I

Archery
Athletics
Badminton
Hockey
a b
3 (D
(3) (D
ey (2
(5) (1)
wl -1
2Rl
Seadlsy
SKEPE
SLsl
a b
) (1)
3 (1)
1) (2
5) (L)
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C
@
@
3)
@

@
@
3
2

List II
(1) Starting Block
(2) Racket ’
B) Arrow
(4) Bat
(5) Stick
d
(5)
4)
4)
)
aulz - 11
(1) b sds
() e
3) WL
4 o
5) s
d
(5)
4)
CY
3)
14
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